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32&%) waztd | ®adnd | 5%4% | HE
At2H(17H/300~3509) 2,719 2,293 426 18.58%
Hi (17H/650~700g) 4,574 4,440 135 3.04%
2(171/1kg) 2,513 1,976 537 27.16%
Hi 2=(1 27| /3kg) 8,314 4,756 3,558 74.81%
CHitH(15/S/1kg/2E 7HA) 2,817 3,000 183 -6.10%
20|(37H) 3,741 4,274 533 -12.47%
K| 27| (= 4t/ 4 4/6009) 15,166 15,870 704 -4.44%
SET= St 7[(10r2]/1kg) 8,097 8,047 51 0.63%
(16E5) A D 7|(=Z /=7 HE LK /1S 42,544 40,972 1,572 3.84%
A 07| (=4S 4H/6009) 65,309 59,384 5,925 9.98%
= ZF (12T 2k/307K) 7,308 7,436 128 -1.72%
Z7[(10r2]/=4F/15cm) 1,428 1,377 52 3.76%
ZX|(102[/=4t/80cm) 6,763 7,649 886 -11.58%
150 10r2|/=4t/30cm) 3,595 3,366 229 6.80%
HEf(10r2]/2H A|OFLF/40¢m) 4,879 4,723 156 3.31%
QA0 (10r2|/5HS/30cm) 4,463 4,556 93 -2.03%
% (20kq) 57,630 53,239 4,391 8.25%
2| (=4/1kg) 3,258 3,242 16 0.49%
LIt (1kg) 2,286 2,028 258 12.73%
7tOHS (1kg) 12,420 12,133 287 2.37%
LIF (5 HE/1kg) 2,102 2,152 50 -2.32%
B (12/300g/3 QA +W1| 1,151 1,243 92 -7.40%
M= M%%(1.8L/+7| 7,820 8,273 453 -5.48%
(14E5) Z7t2(1kg/= LHM) 26,036 26,616 580 -2.18%
D1| FE(1kg/=U41h 10,187 12,879 2,692 -20.90%
LR (Tkg/=rLH L) 5,845 5,706 139 2.44%
—*‘erm /5009) 3,012 2,960 52 1.74%
3|22 (L) 1,984 2,211 228 -10.30%
74 S2(1L) 1,958 2,129 171 -8.04%
S(1L) 1,660 1,715 54 -3.18%
~ = AT tg 360m2/¢nH§) 1,876 1,799 77 4.28%
o OHZ= (18 500me/Z O &) 1,973 1,878 95 5.06%




